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() (b) () | (@ (e) 0
)
kg/ VA/
BOO1|NMR 210
Bl 56.25 2 1 2.55 800 K3 F2| w4 | C4 2 E9
(270)
B002
B1 109 10 2 2.55 500 K1 F1| w1l |C2 (1730(; 2 El
B003
B1 1125 20 0 B204 400 K1 F7| w1l C1l (720) El
B004 520
Bl 56.25 4 0 500 K1 F7| w1l C1l (1500) K2 El
B005| X
Bl 54.72 6 2 400 K1 F1| w1l /| C1 30 2 El
B006
5 2812 0 0 800 K1 F1| w1l /| C1 30 2
B008
Bl 56.25 10 2 400 K1 F9| wl | C1l (1730(; 2 El
B009
3 B1 195 2 2.55 400 K1 F2| w1 | C2 340 2 El
B010
B1 20 10 800 K1 F1| w1l /| C1 890 2 El
(500)
BO11
B1 20 5 255 B204 400 K1 F1| w1l | C2 - El




(a) (b) ()| @ (e) g
)
kg/ VA/
B012 K1
Bl 20 1 2 0 400 | + F1 W1 C2 730 E1+E4
k3
B013
1 20 3 10 3 BO14 400 K1 |[F8 1 1 ?520(; 2 E1
B014 250
Bl 20 3 10 3 BO13 400 K1 [F8 w1 C1 (50) E1
B015 360
Bl 40 3 10 3 28 400 K3 |F1 w1 c2 (110) 2 E
B016
Bl 20 0 3 2 400 K1 |F1lwi c1 190 2 E1
B017
Bl 228 2 10 2 400 K1 |F1lwi c1 170 2 E1
B018
Bl 4617 2 10 2 255 400 K1 |F9 w1 c2 (gg) 2 E1
B019
260
B1 2 10 2 400 K1 |F1lwi c1 2 E1
(30)
B101
1 109 30 35 3 400 K1 |F1lwi c1 80 2 E1
B102
1 1125 0 4 o0 400 KI | 2 w1 1 1(28? 2 E1
103 B106
1 28 5 5 5 255 .20 400 K2 1 1 2 - 2 El

B202 3
B211 4




(a) (b) ()| @ (e) g
)
kg/ VA/
B104
20 0 5 0 255 400 K2 1 1 2 - 2 E1
B105
39 10 20 0 255 300 K2 1 1 2 - 2 E1
B106 B103.
B201.
B202.
40 5 15 5 255 B203. 400 k2 |F1 wi C2 - E1
B211
B216
B107
20 0 5 0 255 400 K1 |F2l w1 c2 110 2
B108
40 - 30 - | 255 300 K2 1 Wil c2 - 2 E1
B109
40 - 30 - | 255 300 K2 1 Wil c2 - 2 E1
B110
40 - 30 - | 255 300 K2 1 Wil c2 - 2 E1
B111
40 - 30 - | 255 300 K2 1 Wil c2 - 2 E1
B112
40 3 7 1 soo K 3 1 1 180 2 E1
B201 B103
56 0 2 0 Buwe | gny | K 1 1 1 - 2

B202 3
B211 4




(a) (b) ()| @ (e) g
)
kg/ VA/
B202 B103
56 10 | 10 10 255 2% 400 K2 1 1 2 - 2 E1
B211 4
B204
1125 0 15 0 a00 K 20 11 - 2 E1
205
110
56 8 10 5 B206 400 K1 2 1 1 ©0) 2 E1
B206
56 5 10 5 B205 400 K1 | 2 wi c1 (1810(; 2 E1
B207
58 3 8 3 400 K1 |F2lwi c1 240 2 E1
B209
28 2 8 3 400 K1 |F2lwi c1 150 2 E1
B210
28 2 5 3 400 K1 E% Wi C1 560 E1
B211]
-1
B211]
-2
B212
B213 B106
20 2 2 2 255 | B® 1 400 K2 1 1 2 - 2 E1

B202 3
B211 4
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kg/ VA/
B214 B106
20 5 5 5 255 o2t 400 K2 1w c2 - 2 E1
B211 4
B215
B216
B217
B218
B220
B221
B222
20 3 5 2 255 a00 K 1 Wi c2 180 | 2 E1
B223
B224
20 3 5 3 255 a00 K 1 Wi c2 130 | 2 E1
B225
40 10 15 5 | 255 a0 X |Hw 2 140 | 2 E1

F5




(@) (b) () | (@ (e) 0
)
kg/ VA/
B226 )
40 10 10 5 2.55 400 K F1 w1l C2 70 2 El
B227 (4)
B228 3)
B229 @)
B230 1)
B301
56.25 4 8 4 400 K1 F2/ w1l C1 130 2 El
B302
56.25 4 8 4 400 K1 F2 w1l C1 120 2 El
B303
112 8 15 0 400 K1 F2/ w1l C1 350 El
B305
84 5 10 5 400 K1 F2 w1l C1 230 2 El
B306
28 3 5 3 400 K2 F2/ w1l C1 270 2 El
800
B307
28 5 10 2 2.55 400 K2 F1 w1l C2 - 2 El




(@) (b) () | (@ (e) g
)
kg/ VA/

B308
28 2 10 2 | 255 400 K3 Wl C2 (27100) 2 E23

B309!
3 56.25 10 15 4 | 255 p3sob 400 K Wi c2 . 2 E1

B309!
b 28 5 10 2 | 255 D3%0a 400 k2 Wl c2 - 2 E1

B310

B311

312
40 5 9 5 255 400 k2 Wi C2 - 2 E1

313
40 6 12 6 255 400 k2 Wi C2 - 2 E1

314
20 1 3 1 255 400 15 Wl C2 . 2 E1

(800)

315

316

317




(@ (b) () | (@ (e) g
)
kg/ VA/
318
319
39 3 5 0 400 K1 |F1 w1 c1 700 | 2 E1
B320
40 10 20 10 255 400 K2 |F1 w1 c2 240 | 2 E1
B321
B322
B323
324
20 2 5 2 255 400 k2 |F1 w1 c2 - 2 E1

326

327

328




(a) (b) () | (@ (e) g
)
kg/ VA/

329
18.75 13 o0 200 k2 |F w1 c . 2 E1

B400

B401

402

1200
1125 12 15 5 B410 400 K1 |F2 w1 c1 ooy | 2 E1
403 2

37 8§ 10 5 400 K2 |F2 w1 c1 20 | 2 E1

B404
75 8§ 16 10 500 K1 |F2 wi c1 1220 2 E1

B405
) 1125 0 15 0 400 K1 |F2 w1 c1 ?9500) 2 E1

B406

B407

B408
56 3 20 3 255 1200 K2 |F1 wi C2 60 | 2 E1

B409
39 8§ 16 5 255 00 X |[m w2 330 | 2 E1




(@ (b) ()| @ (e) g
)
kg/ VA/
B410
3900
7 19.5 4 1 | 255 B402 400 K1 F2| Wi C2 (70) 2 E1l
B411
195
412
20 10 5 | 255 400 |K1 2 Wi Cc2 340 2 El
413
414 2
20 8 2 | 255 400 |K2 1 W1 C2 - 2 El
415 3
20 4 2 | 255 400 |K1 2 Wi Cc2 280 2 El
416 4
20 8 4 | 255 400 |K2 2 Wi Cc2 170 2 El
B417 5
20 10 5 | 255 400 |K2 2 Wi Cc2 260 2 El

B418

B419

B420
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(@) (b) () | (@ (e) g
)
kg/ VA/
B421!
a 20 2 5 2 | 255 400 K3 |F2 w1 c1 400 | 2 E10
B421!
b 39 0 15 0 255 a0 K 1wl 2 (16700) 2 E1
B422]
B423
-1 40 15 20 10 255 400 K2 |F1 w1 c2 - 2 El
B423!
-2 20 5 8 4 255 400 K2 |F1 wi c2 - 2 El
B424
20 1 5 1 800 K2 |F1 wi c1 - 2 E2
B425
B426
18.75 1 3 0 400 K2 |F1 w1 c1 - 2 El

B501
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@ (b) () | (@ (e) g
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kg/ VA/
001 K1
B1| 54.76 2 4 2 3.2 400 @+ F2 w1 C2 390 K2 E1+E18
K3
002
Bl 39 3 10 2 50 KI |F2 2¢C 790 1 ko El
(360)
003
B1| 28.13 0 2 0 400 K1 F2 360 K2 El
o0t 1390
B1| 195 2 6 2 400 K1 W1l C1 (800) K2 El
005 (1) €007
c1o1
B1| 28 2 10 2 C102 800 |K1 W C1 - K2
106
€107
007 2 005
c101 K
B1| 56 2 10 2 C102 800 W C1 - K2
106
10
00 E
600
B1| 28 2 6 2 400 K1 W1l | C K2 El
(70)
009w
Kl 320
B1| 28 0 5 1 2.00 500 | + 2 2 3 (120) K2 +
K3 E21
101 €005
C007 170
1| 168 60 70 60 ci2 | 400 |K1 C1 K2 El
C106 (110)
10
102 005
007
1 39 60 70 60 ciol | 400 |K1 70 K2 El

C106
C107




(a) (b) () [ @ (e) g
)
kg/ VA/
103
28 10 25 10 3.0 C105 400 K2 C2 - K2 El
C104
195 5 20 0 255 | C108 400 K2 F1 w1 C2 - K2 E1l
C105
56 20 40 10 3.0 400 K2 F4| Wl C2 - K2 El
C106 co05
€007
20 10 30 30 gigg 400 |K2 F1/ wi C1 - K2 E1l
C10
107 C005
€007
56 2 5 2 gigg 400 |K1 F2 w1 C1 30 K2 E1l
C106
C108
39 5 10 2 255 | C104| 400 K2 F1 w1 C2 - K2 E1l
201 100
112.50 5 10 0 C203 400 K1 F2| wl Ci1 (60) K2 E1l
C202 400
195 1 1 0 C204 K2 F1 wi C1 - K2 E1l
203 C201
87.75 3 5 0 C205 400 K1 F2| wl Ci 180 K2 E1l
C204 C202
195 1 10 0 C206 400 |K2 F1 wi C1 - K2 E1l
205 K2 E1l
2475 0 2 0 C203| 400 | + F2| wl Ci 270 | K2 +

K3

E16




@ (b) () | (@ (e) g
)
kg/ VA/

C206
195 1 1 0 C204 400 K2 |F1 wi c1 160 | k2 E1

207
56 4 6 4 255 C214 400 Kl 390 | K2 E1

C208
195 2 4 0 400 K2 |F2 w1 c1 460 | K2 E1

209
56 4 6 4 C216 600 K1 |[F2 wi c1 570 | K2 E1

C210
1352 0 2 0 400 K2 |F2 w1 c1 1300 | K2 E1

212
19.76 1 6 1 32 400 K2 |F2 w1 c2 880 | K2 E1

C214

C216

301
1125 10 15 5 255 400 K1 Wi C2 480 | K2 E1

302
39.22 3 5 2 255 400 K1 W c2 270 | K2 E1

303
54.76 4 6 2 255 400 K1 w o c2 500 | K2 E1

304




(@) (b) ()| @ ©) 9
)
kg/ VA/
305 720
56.25 12 5 255 400 K1 F2| w1l C2 (130) K2 El
C306 710
195 8 3 2.55 400 K1 F2 Wl C2 (360) K2 El
307 700
56 15 5 255 400 K1 F2| w1l C2 (130) K2 El
8 400 880
27 10 5 2.55 600 K1 F2 W1 C2 (640) K2 El
309 870
56 15 5 255 400 K1 F2| w1l C2 (250) K2 El
C310
195 10 5 2.55 400 K1 F1 Wl C2 1500 | K2 El
C312
C314 380
195 10 5 2.55 400 K1 F2 w1 C2 (360) K2 El
401E
C401w 800
56.25 15 7 C403e | 400 K1 F2| wl Ci1 K2 El
C403W (370)
401W
C401E
56.25 15 7 Céggng 400 K1 F2| wl Ci1 880 | K2 El
402 K1 240 El
39 6 1 400 | + F1/ wl Ci (880) K2 +
K3 E16
403E
C403W
56.25 20 7 c40iE | 400 K1 F2| wl Ci 910 | K2 El

C401w




@ (b) () | (@ (e) g
)
kg/ VA/
403W
C403E 510
56.25 7 20 7 caolE 400 K1 2W C K2 E1
c40 W (160)
404
39 10 20 10 cas | 400 K2 1W C 350 | k2 E1
405
56 6 10 6 C407 400 K1 2W C 400 | K2 E1
C406
25 110 0 C404 400 K2 |F4 wi C1 200 | k2 E1
o C405
56 6 10 6 Caos 400 K1 |F2 w1 C1 380 | k2 E1
408
40 3 5 3 600 KL |F2 wi c1 680 | > E1
(540)
409
56 6 10 6 C407 400 K1 e 400 | K2 E1
410
20 3 10 3 255 C412 400 K2 e - | ke E1
C412
C501A
S 1125 12 16 5 C503 400 K1 |F2 500 | K2 El
502
39 6 10 4 400 K1 w o c1 680 | K2 E1
C503A
,C503
B 1125 2 16 5 400 K1 w c1 400 | K2 E1




@ (b) ONEC) @) g
)
kg/ VA/
504A P2
20 3 1 C502 400 K3 [F2w c1 630 | K2 E25
504B
506A
20 8 3 255 So® 400 K2 W c2 490 | K2 El
506
20 6 2 255 csoea 400 Kl w o c2 480 | K2 E1
C508
30 5 1 30 400 K2 |F1 wi c2 - | ke E1
510
143 5 2 400 K3 W C1 670 | K2 E25
512
40 5 3 500 K1 1wl c1 620 | K2 E1
514
240
20 5 3 255 400 K1 w o c2 K2 E1

(160)
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